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FF in decimal 25*1+15*160=2440+15--255
16*16=256 q

15*16=180+80
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Back to Absolute convergence
-

a
↳ contrast to Conditional

as Convergence
Z an given series
h =L

If I am series converges ,
then

we say
that an CONVERGESABSOLUTELY

Then If ⇐ Ian I CONERGES,
then

II. an converges fatssogou.argqa.ae)
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x = 1×1+-1×1- 1×13 Htt

1×131×1 -

Prod.

Assume lani converges .
→



O E la . I + I laid ⇒ laid.tk?lakl5ZIakl#
nondecreasingVent IN bddl

MET It
,

la. It converges

a

O k lak l- E laid ⇒ I la. I
.

Converges .

f- a

Algebra of convergent series implies
that

II. ( tank- laid ) also converges- a
.

= an thus Ian converges
free



How to test ABSOLUTE CONVERGENCE ?
B
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Does Ein tangy exist ? =L

D LL I
⇒ Ilan l converges .

L > 1 ⇒ -210in I diverges .



Iain converges absolutely
" '

provided that figg s I

Consider the series
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variable

Do ratio test !

Esma = kink:# ¥-051
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Use ex = It, xnn€
to understand ( prove)
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i. = F1 imaginary
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